
 

 

Squeeze Theorem Worksheet 

MATH 2301 (Barsamian) 

Generic Hypotheses Our Specific Hypotheses 

the real number 𝑎  

the function 𝑓(𝑥)  

the function 𝑔(𝑥)  

the function ℎ(𝑥)  

verification that functions 𝑓, 𝑔, ℎ satisfy 

𝑓(𝑥) ≤ 𝑔(𝑥) ≤ ℎ(𝑥) 

when 𝑥 is near 𝑎 (except possibly at 𝑎) 

 

Function 𝑓 has limit lim
𝑥→𝑎

𝑓(𝑥) = 𝐿.  

Function ℎ has limit lim
𝑥→𝑎

ℎ(𝑥) = 𝐿.  

Generic Conclusion Our Specific Conclusion 

Function 𝑔(𝑥) has limit lim
𝑥→𝑎

𝑔(𝑥) = 𝐿. 

 

𝐹𝑢𝑛𝑐𝑡𝑖𝑜𝑛 _____(𝑥) = __________________ 

 

ℎ𝑎𝑠 𝑙𝑖𝑚𝑖𝑡 lim
𝑥→____

____(𝑥) = _______. 
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